7/2.0000) U E|F
70.2000) (U E|F

71.500M) U |E h

changing the value

N

Actual values

&

Tolerance zones

fixed tolerance gage

2.00




7/2.0000) U E|F
70.2000) (U E|F

¢

& @1.'50@ UE

Actual values

Tolerance zones

w
o
I
=)
w
o
c
]
[ .
ge
o)
+— —
@
> =
—
S
4+ ©
M o .
Th
e v
M >l
)
+~ =2 E
o w2
N = 1)
- .2 0o




72.000M) | U
Actual values 202000

715000 U E

Scenario #1

Distance A equal to distance B
fixed tolerance gage

—— translatory tolerance gage center of translatory
tolerance gage
« cenfterpoints out of tolerance

« centerpoints within folerance '
Distance B

Distance A
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Scenario #2

Distance A equal to distance B
fixed tolerance gage

—— translatory tolerance gage center of translatory
tolerance gage
« cenfterpoints out of tolerance

« centerpoints within folerance '
Distance B

Distance A
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Scenario #3

Distance A equal to distance B
fixed tolerance gage

—— translatory tolerance gage >< center of translatory
tolerance gage
« cenfterpoints out of tolerance

« centerpoints within folerance _
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Scenario #4

Distance A equal to distance B
fixed tolerance gage

—— translatory tolerance gage center of translatory
tolerance gage
« cenfterpoints out of tolerance

. centerpoints within tolerance
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Scenario #5

Distance A equal to distance B
fixed tolerance gage

—— translatory tolerance gage center of translatory
tolerance gage
« cenfterpoints out of tolerance

. centerpoints within tolerance

Distance B _

Distance A




